

Summation formulas for Fox-Wright function

Chuanan Wei^{1*}Lily Li Liu^{2†}Dianxuan Gong^{3‡}¹ Department of Medical Informatics, Hainan Medical University, Haikou, China² School of Mathematical Sciences, Qufu Normal University, Qufu, China³ College of Sciences, North China University of Science and Technology, Tangshan, China

received 2008-05-01, revised 2018-09-19, accepted 2018-09-19.

By means of inversion techniques and several known hypergeometric series identities, summation formulas for Fox-Wright function are explored. They give some new hypergeometric series identities when the parameters are specified.

Keywords: Hypergeometric series, Fox-Wright function, Inversion techniques

1 Introduction

For a complex variable x and an nonnegative integer n , define the shifted-factorial to be

$$(x)_0 = 1 \quad \text{and} \quad (x)_n = x(x+1)\cdots(x+n-1) \quad \text{when} \quad n = 1, 2, \dots.$$

Following Andrews et al. (2000), define the hypergeometric series by

$${}_{1+r}F_s \left[\begin{matrix} a_0, & a_1, & \dots, & a_r \\ b_1, & \dots, & b_s \end{matrix} \middle| z \right] = \sum_{k=0}^{\infty} \frac{(a_0)_k (a_1)_k \cdots (a_r)_k}{k! (b_1)_k \cdots (b_s)_k} z^k,$$

where $\{a_i\}_{i \geq 0}$ and $\{b_j\}_{j \geq 1}$ are complex parameters such that no zero factors appear in the denominators of the summand on the right hand side. Then Whipple's ${}_3F_2$ -series identity (cf. Andrews et al. (2000)[p. 149]) can be stated as

$${}_3F_2 \left[\begin{matrix} a, 1-a, b \\ c, 1+2b-c \end{matrix} \middle| 1 \right] = \frac{\Gamma(\frac{c}{2})\Gamma(\frac{1+c}{2})\Gamma(b+\frac{1-c}{2})\Gamma(b+\frac{2-c}{2})}{\Gamma(\frac{a+c}{2})\Gamma(\frac{1-a+c}{2})\Gamma(b+\frac{1+a-c}{2})\Gamma(b+\frac{2-a-c}{2})}, \quad (1)$$

where $Re(b) > 0$ and $\Gamma(x)$ is the well-known gamma function

$$\Gamma(x) = \int_0^{\infty} t^{x-1} e^{-t} dt \quad \text{with} \quad Re(x) > 0.$$

*He is supported by the National Natural Science Foundation of China (No. 11661032).

†She is supported by the National Natural Science Foundation of China (No. 11871304).

‡I am the corresponding author and am supported by the National Natural Science Foundation of China (No. 11601151).

About the research for the generalizations of Watson's ${}_3F_2$ -series identity and (1) with integer parameters, the reader may refer to the papers Chu (2012, 2013); Lavoie (1987); Lavoie et al. (1992); Wimp (1983); Zeilberger (1992). The corresponding q -analogues can be found in Wei and Wang (2017). Some strange evaluations of hypergeometric series can be seen in the papers Gessel and Stanton (1982); Wang and Wang (2014); Wang (2015); Wang et al. (2018).

Recall Fox-Wright function ${}_p\Psi_q$ (cf. Fox (1928); Wright (1935, 1940); see also Srivastava and Karlsson (1985)[p. 21], which is defined by

$${}_p\Psi_q \left[\begin{matrix} (\alpha_1; A_1), \dots, (\alpha_p; A_p) \\ (\beta_1; B_1), \dots, (\beta_q; B_q) \end{matrix} \middle| z \right] = \sum_{k=0}^{\infty} \frac{\prod_{i=1}^p \Gamma(\alpha_i + A_i k)}{\prod_{j=1}^q \Gamma(\beta_j + B_j k)} \frac{z^k}{k!}$$

and regarded as a generalization of hypergeometric series, where the coefficients $\{A_i\}_{i \geq 1}$ and $\{B_j\}_{j \geq 1}$ are positive real numbers such that

$$1 + \sum_{j=1}^q B_j - \sum_{i=1}^p A_i \geq 0.$$

Naturally, the domain where $\{A_i\}_{i \geq 1}$ and $\{B_j\}_{j \geq 1}$ take on values can be extended to the complex field and the upper coefficient relation is ignored when the series is terminating. For convenience, we shall frequently use the symbol

$$(x_1, x_2, \dots, x_r; A) := \prod_{i=1}^r \Gamma(x_i + Ak)$$

in the Fox-Wright function.

The importance of Fox-Wright function lies in that it can be applied to many fields. Miller and Moskowitz (1995) offered the applications of Fox-Wright function to the solution of algebraic trinomial equations and to a problem of information theory. Mainardi and Pagnini (2007) told us that Fox-Wright function plays an important role in finding the fundamental solution of the fractional diffusion equation of distributed order in time. More applications of the function can be found in Craven and Csorads (2006); Darus and Ibrahim (2008); Miller (2002); Murugusundaramoorthy and Rosy (2011); Pogány and Srivastava (2009); Srivastava et al. (2005); Srivastava (2007). The following fact should be mentioned. Aomoto and Iguchi (1999) introduced the quasi hypergeometric function, which is exactly multiple Fox-Wright function, and showed that it satisfies a system of difference-differential equations.

One pair of inverse relations implied in the works of Bressoud (1988) and Gasper (1989) (see also Chu (1994)[p. 17]) can be expressed as follows.

Lemma 1 *Let x, y and z be complex numbers. Then the system of equations*

$$f(n) = \sum_{k=0}^n (-1)^k \binom{n}{k} \frac{x + zk + k}{(x + zn)_{1+k}} \frac{y - zk + k}{(y - zn)_{1+k}} (z^{-1}(x - y) + k)_n g(k) \quad (2)$$

is equivalent to the system of equations

$$g(n) = \sum_{k=0}^n (-1)^k \binom{n}{k} (x + zk)_n (y - zk)_n \frac{z^{-1}(x - y) + 2k}{(z^{-1}(x - y) + n)_{1+k}} f(k). \quad (3)$$

Although the importance of Fox-Wright function has been realized for many years, there are only a small number of summation formulas for this function to our knowledge. The corresponding results, which can be seen in the papers Chu and Wang (2008); Krattenthaler (1996); Wei et al. (2012), are all from inversion techniques and identities related to Saalschutz's theorem. The reader may refer to Ma (2007, 2011); Warnaar (2002) for more details on inversion techniques.

Inspired by the importance of Fox-Wright function and the lack of summation formulas for this function, we shall derive several summation formulas for Fox-Wright function according to Lemma 1, (1) and some other hypergeometric series identities in Sections 2-3.

2 Whipple-type series and summation formulas for Fox-Wright function

Theorem 2 *Let a and λ be complex numbers. Then*

$$\begin{aligned} & {}_5\Psi_6 \left[\begin{matrix} (1, \frac{3}{2}; 1), (\lambda - a; \lambda), (\frac{1}{2} + \lambda - a; 1 + \lambda), (1 + 2a + n; 1 + 2\lambda) \\ (1 + n; -1), (2 + n, \frac{1}{2}; 1), (1 + a; \lambda), (\frac{3}{2} + a; 1 + \lambda), (1 + 2\lambda - 2a - n; 1 + 2\lambda) \end{matrix} \middle| -1 \right] \\ &= \frac{(-1)^n 4^{2a - \lambda} (1 + 2a - \lambda)_n}{(\lambda - a + \lambda n)(1 + 2a + 2\lambda n + 2n)(1)_n}. \end{aligned}$$

Proof: The case $a = -n$ of (1) reads

$${}_3F_2 \left[\begin{matrix} -n, 1 + n, b \\ c, 1 + 2b - c \end{matrix} \middle| 1 \right] = \frac{(\frac{c-n}{2})_n (c - 2b)_n}{(\frac{c-n}{2} - b)_n (c)_n}.$$

Perform the replacements $b \rightarrow 1 + 2a - \lambda$ and $c \rightarrow 2 + 2a + 2\lambda n + n$ to obtain

$$\begin{aligned} & \sum_{k=0}^n (-1)^k \binom{n}{k} \frac{1 + 2a + 2\lambda k + k + k}{(1 + 2a + 2\lambda n + n)_{1+k}} \frac{2a - 2\lambda - 2\lambda k - k + k}{(2a - 2\lambda - 2\lambda n - n)_{1+k}} (1 + k)_n \\ & \times \frac{(1)_k (1 + 2a - \lambda)_k}{(1 + 2a + 2\lambda k + 2k)(2a - 2\lambda - 2\lambda k)} \\ &= \frac{(1)_n}{2a - 2\lambda - 2\lambda n - n} \frac{(1 + a + \lambda n)_n (2\lambda - 2a + 2\lambda n + n)_n}{(\lambda - a + \lambda n)_n (1 + 2a + 2\lambda n + n)_{1+n}}, \end{aligned}$$

which fits to (2) with

$$\begin{aligned} & x = 1 + 2a, \quad y = 2a - 2\lambda, \quad z = 1 + 2\lambda; \\ & g(k) = \frac{(1)_k (1 + 2a - \lambda)_k}{(1 + 2a + 2\lambda k + 2k)(2a - 2\lambda - 2\lambda k)}; \\ & f(n) = \frac{(1)_n}{2a - 2\lambda - 2\lambda n - n} \frac{(1 + a + \lambda n)_n (2\lambda - 2a + 2\lambda n + n)_n}{(\lambda - a + \lambda n)_n (1 + 2a + 2\lambda n + n)_{1+n}}. \end{aligned}$$

Then (3) produces the dual relation

$$\begin{aligned} & \sum_{k=0}^n (-1)^k \binom{n}{k} (1+2a+2\lambda k+k)_n (2a-2\lambda-2\lambda k-k)_n \frac{1+2k}{(1+n)_{1+k}} \\ & \times \frac{(1)_k}{2a-2\lambda-2\lambda k-k} \frac{(1+a+\lambda k)_k (2\lambda-2a+2\lambda k+k)_k}{(\lambda-a+\lambda k)_k (1+2a+2\lambda k+k)_{1+k}} \\ & = \frac{(1)_n (1+2a-\lambda)_n}{(1+2a+2\lambda n+2n)(2a-2\lambda-2\lambda n)}. \end{aligned}$$

Rewrite it in accordance with Fox-Wright function, we get Theorem 2. \square

When $\lambda = 0$, Theorem 2 reduces to the hypergeometric series identity

$${}_5F_4 \left[\begin{matrix} 1, \frac{3}{2}, \frac{1}{2} - a, 1 + 2a + n, -n \\ \frac{1}{2}, \frac{3}{2} + a, 1 - 2a - n, 2 + n \end{matrix} \middle| 1 \right] = \frac{1+2a}{1+2a+2n} \frac{(2)_n}{(2a)_n},$$

which is a special case of Dougall's ${}_5F_4$ -series identity (cf. Andrews et al. (2000)[p. 71]):

$$\begin{aligned} & {}_5F_4 \left[\begin{matrix} a, 1 + \frac{a}{2}, b, c, d \\ \frac{a}{2}, 1 + a - b, 1 + a - c, 1 + a - d \end{matrix} \middle| 1 \right] \\ & = \frac{\Gamma(1+a-b)\Gamma(1+a-c)\Gamma(1+a-d)\Gamma(1+a-b-c-d)}{\Gamma(1+a)\Gamma(1+a-b-c)\Gamma(1+a-b-d)\Gamma(1+a-c-d)} \end{aligned} \quad (4)$$

provided that $Re(1+a-b-c-d) > 0$.

Other two hypergeometric series identities from Theorem 2 can be displayed as follows.

Example 1 ($\lambda = 1$ in Theorem 2)

$$\begin{aligned} & {}_9F_8 \left[\begin{matrix} 1, \frac{3}{2}, 1 - a, \frac{3-2a}{4}, \frac{5-2a}{4}, \frac{1+2a+n}{3}, \frac{2+2a+n}{3}, \frac{3+2a+n}{3}, -n \\ \frac{1}{2}, 1 + a, \frac{5+2a}{4}, \frac{3+2a}{4}, \frac{5-2a-n}{3}, \frac{4-2a-n}{3}, \frac{3-2a-n}{3}, 2 + n \end{matrix} \middle| 1 \right] \\ & = \frac{2a(1-a)(1+2a)}{(1-a-n)(2a+n)(1+2a+4n)} \frac{(2)_n}{(2a-2)_n}. \end{aligned}$$

Example 2 ($\lambda = 2$ in Theorem 2)

$$\begin{aligned} & {}_{13}F_{12} \left[\begin{matrix} 1, \frac{3}{2}, \frac{2-a}{2}, \frac{3-a}{2}, \frac{5-2a}{6}, \frac{7-2a}{6}, \frac{9-2a}{6}, \left\{ \frac{i+2a+n}{5} \right\}_{i=1}^5, -n \\ \frac{1}{2}, \frac{2+a}{2}, \frac{1+a}{2}, \frac{7+2a}{6}, \frac{5+2a}{6}, \frac{3+2a}{6}, \left\{ \frac{10-i-2a-n}{5} \right\}_{i=1}^5, 2 + n \end{matrix} \middle| 1 \right] \\ & = \frac{(2-a)(1+2a)}{(2-a+2n)(1+2a+6n)} \frac{(2a-1)_n (2)_n}{(2a-4)_n (2a+1)_n}. \end{aligned}$$

Theorem 3 Let a and λ be complex numbers. Then

$$\sum_{i=0}^m (-1)^i \frac{(-m)_i}{i!} \Omega(\lambda, a, i, m, n) = \frac{(-1)^n 2^{4a-2\lambda-m-1} (1+2a-\lambda-\frac{m}{2})_n}{(1+2a+2\lambda n+2n)(\lambda-a+\lambda n)(1)_n},$$

where the expression on the left hand side is

$$\begin{aligned} & \Omega(\lambda, a, i, m, n) \\ &= {}_7\Psi_8 \left[\begin{array}{c} (1, \frac{3}{2}; 1), (\frac{m-i}{2} + \lambda - a; \lambda), (\frac{1+m-i}{2} + \lambda - a; 1 + \lambda), \\ (\frac{3+m}{2} - i + \lambda, 1 + 2a + n; 1 + 2\lambda), (1 - i + 2\lambda; 2 + 4\lambda) \\ (1 + n; -1), (2 + n, \frac{1}{2}; 1), (\frac{2-i}{2} + a; \lambda), (\frac{3-i}{2} + a; 1 + \lambda), \\ (\frac{1+m}{2} - i + \lambda, 1 + 2\lambda - 2a - n; 1 + 2\lambda), (2 + m - i + 2\lambda; 2 + 4\lambda) \end{array} \middle| -1 \right]. \end{aligned}$$

Remark: In the symbol $\Omega(\lambda, a, i, m, n)$, the parameters on the first two lines are numerators and other ones are denominators. This remark is also applicative to Theorem 5.

Proof: Lemma 1 of Chu (2013) gives

$$\begin{aligned} & {}_3F_2 \left[\begin{array}{c} a, 1 - a, b \\ c, 1 + 2b - c + m \end{array} \middle| 1 \right] = \frac{(1 + 2b - c)_m}{(2 + 2b - 2c)_m} \sum_{i=0}^m (-1)^i \frac{(-m)_i (\frac{3}{2} + b - c)_i}{i! (\frac{1}{2} + b - c)_i} \\ & \times \frac{(1 - c)_i (1 + 2b - 2c)_i}{(1 + 2b - c)_i (2 + 2b - 2c + m)_i} {}_3F_2 \left[\begin{array}{c} a, 1 - a, b \\ c - i, 1 + 2b - c + i \end{array} \middle| 1 \right]. \end{aligned}$$

Calculating the ${}_3F_2$ -series on the right hand side by (1) and then setting $a = -n$ in the resulting identity, we have

$$\begin{aligned} & {}_3F_2 \left[\begin{array}{c} -n, 1 + n, b \\ c, 1 + 2b - c + m \end{array} \middle| 1 \right] = \frac{(1 + 2b - c)_m}{(2 + 2b - 2c)_m} \sum_{i=0}^m (-1)^i \frac{(-m)_i (\frac{3}{2} + b - c)_i}{i! (\frac{1}{2} + b - c)_i} \\ & \times \frac{(1 - c)_i (1 + 2b - 2c)_i}{(1 + 2b - c)_i (2 + 2b - 2c + m)_i} \frac{(\frac{c-n-i}{2})_n (c - 2b - i)_n}{(\frac{c-n-i}{2} - b)_n (c - i)_n}. \end{aligned}$$

Employ the substitutions $b \rightarrow 1 + 2a - \lambda - \frac{m}{2}$ and $c \rightarrow 2 + 2a + 2\lambda n + n$ to gain

$$\begin{aligned} & \sum_{k=0}^n (-1)^k \binom{n}{k} \frac{1 + 2a + 2\lambda k + k + k}{(1 + 2a + 2\lambda n + n)_{1+k}} \frac{2a - 2\lambda - 2\lambda k - k + k}{(2a - 2\lambda - 2\lambda n - n)_{1+k}} (1 + k)_n \\ & \times \frac{(1)_k (1 + 2a - \lambda - \frac{m}{2})_k}{(1 + 2a + 2\lambda k + 2k)(2a - 2\lambda - 2\lambda k)} \\ & = \frac{(1)_n}{(1 + 2a + 2\lambda n + n)(2a - 2\lambda - 2\lambda n - n)} \frac{(2\lambda - 2a + 2\lambda n + n)_m}{(1 + 2\lambda + 4\lambda n + 2n)_m} \\ & \times \sum_{i=0}^m (-1)^i \frac{(-m)_i (\frac{1-m}{2} - \lambda - 2\lambda n - n)_i (-1 - 2\lambda - 4\lambda n - 2n - m)_i}{i! (-\frac{1+m}{2} - \lambda - 2\lambda n - n)_i (1 + 2a - 2\lambda - 2\lambda n - n - m)_i} \\ & \times \frac{(-1 - 2a - 2\lambda n - n)_i (a + \lambda n + \frac{2-i}{2})_n (2\lambda - 2a + 2\lambda n + n + m - i)_n}{(-2\lambda - 4\lambda n - 2n)_i (\lambda - a + \lambda n + \frac{m-i}{2})_n (2 + 2a + 2\lambda n + n - i)_n}, \end{aligned}$$

which suits to (2) with

$$\begin{aligned}
x &= 1 + 2a, \quad y = 2a - 2\lambda, \quad z = 1 + 2\lambda; \\
g(k) &= \frac{(1)_k(1 + 2a - \lambda - \frac{m}{2})_k}{(1 + 2a + 2\lambda k + 2k)(2a - 2\lambda - 2\lambda k)}; \\
f(n) &= \frac{(1)_n}{(1 + 2a + 2\lambda n + n)(2a - 2\lambda - 2\lambda n - n)} \frac{(2\lambda - 2a + 2\lambda n + n)_m}{(1 + 2\lambda + 4\lambda n + 2n)_m} \\
&\times \sum_{i=0}^m (-1)^i \frac{(-m)_i (\frac{1-m}{2} - \lambda - 2\lambda n - n)_i (-1 - 2\lambda - 4\lambda n - 2n - m)_i}{i! (-\frac{1+m}{2} - \lambda - 2\lambda n - n)_i (1 + 2a - 2\lambda - 2\lambda n - n - m)_i} \\
&\times \frac{(-1 - 2a - 2\lambda n - n)_i (a + \lambda n + \frac{2-i}{2})_n (2\lambda - 2a + 2\lambda n + n + m - i)_n}{(-2\lambda - 4\lambda n - 2n)_i (\lambda - a + \lambda n + \frac{m-i}{2})_n (2 + 2a + 2\lambda n + n - i)_n}.
\end{aligned}$$

Then (3) offers the dual relation

$$\begin{aligned}
&\sum_{k=0}^n (-1)^k \binom{n}{k} (1 + 2a + 2\lambda k + k)_n (2a - 2\lambda - 2\lambda k - k)_n \frac{1 + 2k}{(1 + n)_{1+k}} \\
&\times \frac{(1)_k}{(1 + 2a + 2\lambda k + k)(2a - 2\lambda - 2\lambda k - k)} \frac{(2\lambda - 2a + 2\lambda k + k)_m}{(1 + 2\lambda + 4\lambda k + 2k)_m} \\
&\times \sum_{i=0}^m (-1)^i \frac{(-m)_i (\frac{1-m}{2} - \lambda - 2\lambda k - k)_i (-1 - 2\lambda - 4\lambda k - 2k - m)_i}{i! (-\frac{1+m}{2} - \lambda - 2\lambda k - k)_i (1 + 2a - 2\lambda - 2\lambda k - k - m)_i} \\
&\times \frac{(-1 - 2a - 2\lambda k - k)_i (a + \lambda k + \frac{2-i}{2})_k (2\lambda - 2a + 2\lambda k + k + m - i)_k}{(-2\lambda - 4\lambda k - 2k)_i (\lambda - a + \lambda k + \frac{m-i}{2})_k (2 + 2a + 2\lambda k + k - i)_k} \\
&= \frac{(1)_n (1 + 2a - \lambda - \frac{m}{2})_n}{(1 + 2a + 2\lambda n + 2n)(2a - 2\lambda - 2\lambda n)}.
\end{aligned}$$

Interchanging the summation order, we achieve Theorem 3 after some simplifications. \square

When $m = 0$, Theorem 3 reduces to Theorem 2. Performing the the replacements $\lambda \rightarrow \lambda - \frac{1}{2}$ and $a \rightarrow \frac{\lambda+a-1}{2}$ in the case $m = 1$ of Theorem 3, we attain the following reciprocal formula after some reformulations.

Corollary 4 *Let a and λ be complex numbers. Then*

$$A(\lambda; a, n) - A(-\lambda; a, n) = \frac{(-1)^{n+1} 2^{2a+1} \lambda (a)_n}{(a + \lambda + 2\lambda n + n)(a - \lambda - 2\lambda n + n)(1)_n},$$

where the symbol on the left hand side stands for

$$\begin{aligned}
&A(\lambda; a, n) \\
&= {}_4\Psi_5 \left[\begin{array}{c} (1; 1), (\frac{1+\lambda-a}{2}; \lambda - \frac{1}{2}), (\frac{2+\lambda-a}{2}; \lambda + \frac{1}{2}), (\lambda + a + n; 2\lambda) \\ (1+n; -1), (2+n; 1), (\frac{1+\lambda+a}{2}; \lambda - \frac{1}{2}), (\frac{2+\lambda+a}{2}; \lambda + \frac{1}{2}), (1+\lambda-a-n; 2\lambda) \end{array} \middle| -1 \right].
\end{aligned}$$

Two hypergeometric series identities from Corollary 4 can be laid out as follows.

Example 3 ($\lambda = \frac{1}{2}$ in Corollary 4)

$$\begin{aligned} & \frac{1}{1+2a} {}_4F_3 \left[\begin{matrix} 1, \frac{5-2a}{4}, \frac{1}{2} + a + n, -n \\ \frac{5+2a}{4}, \frac{3}{2} - a - n, 2 + n \end{matrix} \middle| 1 \right] \\ & + \frac{1}{1-2a} {}_4F_3 \left[\begin{matrix} 1, \frac{3-2a}{4}, \frac{1}{2} + a + n, -n \\ \frac{3+2a}{4}, \frac{3}{2} - a - n, 2 + n \end{matrix} \middle| 1 \right] \\ & = \frac{2}{(1-2a)(1+2a+4n)} \frac{(2)_n (a)_n}{\left(\frac{1}{2} + a\right)_n \left(-\frac{1}{2} + a\right)_n}. \end{aligned}$$

Example 4 ($\lambda = \frac{3}{2}$ in Corollary 4)

$$\begin{aligned} & \frac{1}{3+2a} {}_8F_7 \left[\begin{matrix} 1, \frac{5-2a}{4}, \frac{7-2a}{8}, \frac{11-2a}{8}, \frac{3+2a+2n}{6}, \frac{5+2a+2n}{6}, \frac{7+2a+2n}{6}, -n \\ \frac{5+2a}{4}, \frac{7+2a}{8}, \frac{11+2a}{8}, \frac{9-2a-2n}{6}, \frac{7-2a-2n}{6}, \frac{5-2a-2n}{6}, 2+n \end{matrix} \middle| 1 \right] \\ & + \frac{1}{3-2a} {}_8F_7 \left[\begin{matrix} 1, \frac{3-2a}{4}, \frac{5-2a}{8}, \frac{9-2a}{8}, \frac{3+2a+2n}{6}, \frac{5+2a+2n}{6}, \frac{7+2a+2n}{6}, -n \\ \frac{3+2a}{4}, \frac{5+2a}{8}, \frac{9+2a}{8}, \frac{9-2a-2n}{6}, \frac{7-2a-2n}{6}, \frac{5-2a-2n}{6}, 2+n \end{matrix} \middle| 1 \right] \\ & = \frac{6}{(3-2a+4n)(3+2a+8n)} \frac{(2)_n (a)_n}{\left(\frac{3}{2} + a\right)_n \left(-\frac{3}{2} + a\right)_n}. \end{aligned}$$

Theorem 5 Let a and λ be complex numbers. Then

$$\sum_{i=0}^m \frac{(-m)_i}{i!} \Theta(\lambda, a, i, m, n) = \frac{(-1)^n 2^{4a-2\lambda-m-1} (1+2a-\lambda+\frac{m}{2})_n (\lambda-2a-\frac{m}{2})_m}{(1+2a+2\lambda n+2n)(\lambda-a+\lambda n)(1)_n},$$

where the expression on the left hand side is

$$\begin{aligned} & \Theta(\lambda, a, i, m, n) \\ & = {}_8\Psi_9 \left[\begin{matrix} (1, \frac{3}{2}; 1), (\frac{m-i}{2} + \lambda - a; \lambda), (\frac{1+m-i}{2} + \lambda - a; 1 + \lambda), \\ (\frac{3+m}{2} - i + \lambda, \frac{2+m}{2} + \lambda, 1 + 2a + n; 1 + 2\lambda), (1 - i + 2\lambda; 2 + 4\lambda) \\ (1 + n; -1), (2 + n, \frac{1}{2}; 1), (\frac{2-i}{2} + a; \lambda), (\frac{3-i}{2} + a; 1 + \lambda), \\ (\frac{1+m}{2} - i + \lambda, \frac{2-m}{2} + \lambda, 1 + 2\lambda - 2a - n; 1 + 2\lambda), (2 + m - i + 2\lambda; 2 + 4\lambda) \end{matrix} \middle| -1 \right]. \end{aligned}$$

Proof: Utilizing Lemma 2 of Chu (2013), it is not difficult to obtain

$$\begin{aligned} & {}_3F_2 \left[\begin{matrix} a, 1 - a, b + \frac{m}{2} \\ c, 1 + 2b - c \end{matrix} \middle| 1 \right] = \frac{(c-2b)_m (c-b-\frac{m}{2})_m}{(2c-2b-1)_m (1-b-\frac{m}{2})_m} \sum_{i=0}^m \frac{(-m)_i (\frac{3-m}{2} + b - c)_i}{i! (\frac{1-m}{2} + b - c)_i} \\ & \times \frac{(1-c)_i (1+2b-2c-m)_i}{(2+2b-2c)_i (1+2b-c-m)_i} {}_3F_2 \left[\begin{matrix} a, 1 - a, b - \frac{m}{2} \\ c - i, 1 + 2b - c - m + i \end{matrix} \middle| 1 \right]. \end{aligned}$$

Evaluating the ${}_3F_2$ -series on the right hand side by (1) and then taking $a = -n$ in the resulting identity, we have

$$\begin{aligned} & {}_3F_2 \left[\begin{matrix} -n, 1 + n, b + \frac{m}{2} \\ c, 1 + 2b - c \end{matrix} \middle| 1 \right] = \frac{(c-2b)_m (c-b-\frac{m}{2})_m}{(2c-2b-1)_m (1-b-\frac{m}{2})_m} \sum_{i=0}^m \frac{(-m)_i (\frac{3-m}{2} + b - c)_i}{i! (\frac{1-m}{2} + b - c)_i} \\ & \times \frac{(1-c)_i (1+2b-2c-m)_i}{(2+2b-2c)_i (1+2b-c-m)_i} \frac{(\frac{c-n-i}{2})_n (c-2b+m-i)_n}{(\frac{c-n+m-i}{2} - b)_n (c-i)_n}. \end{aligned}$$

Employ the substitutions $b \rightarrow 1 + 2a - \lambda$ and $c \rightarrow 2 + 2a + 2\lambda n + n$ to get

$$\begin{aligned}
& \sum_{k=0}^n (-1)^k \binom{n}{k} \frac{1 + 2a + 2\lambda k + k + k}{(1 + 2a + 2\lambda n + n)_{1+k}} \frac{2a - 2\lambda - 2\lambda k - k + k}{(2a - 2\lambda - 2\lambda n - n)_{1+k}} (1 + k)_n \\
& \times \frac{(1)_k (1 + 2a - \lambda + \frac{m}{2})_k}{(1 + 2a + 2\lambda k + 2k)(2a - 2\lambda - 2\lambda k)} \\
& = \frac{(1)_n}{(1 + 2a + 2\lambda n + n)(2a - 2\lambda - 2\lambda n - n)} \frac{(2\lambda - 2a + 2\lambda n + n)_m (1 + \lambda + 2\lambda n + n - \frac{m}{2})_m}{(1 + 2\lambda + 4\lambda n + 2n)_m (\lambda - 2a - \frac{m}{2})_m} \\
& \times \sum_{i=0}^m \frac{(-m)_i (\frac{1-m}{2} - \lambda - 2\lambda n - n)_i (-1 - 2\lambda - 4\lambda n - 2n - m)_i}{i! (-\frac{1+m}{2} - \lambda - 2\lambda n - n)_i (1 + 2a - 2\lambda - 2\lambda n - n - m)_i} \\
& \times \frac{(-1 - 2a - 2\lambda n - n)_i (a + \lambda n + \frac{2-i}{2})_n (2\lambda - 2a + 2\lambda n + n + m - i)_n}{(-2\lambda - 4\lambda n - 2n)_i (\lambda - a + \lambda n + \frac{m-i}{2})_n (2 + 2a + 2\lambda n + n - i)_n},
\end{aligned}$$

which satisfies (2) with

$$\begin{aligned}
& x = 1 + 2a, \quad y = 2a - 2\lambda, \quad z = 1 + 2\lambda; \\
& g(k) = \frac{(1)_k (1 + 2a - \lambda + \frac{m}{2})_k}{(1 + 2a + 2\lambda k + 2k)(2a - 2\lambda - 2\lambda k)}; \\
& f(n) = \frac{(1)_n}{(1 + 2a + 2\lambda n + n)(2a - 2\lambda - 2\lambda n - n)} \frac{(2\lambda - 2a + 2\lambda n + n)_m (1 + \lambda + 2\lambda n + n - \frac{m}{2})_m}{(1 + 2\lambda + 4\lambda n + 2n)_m (\lambda - 2a - \frac{m}{2})_m} \\
& \times \sum_{i=0}^m \frac{(-m)_i (\frac{1-m}{2} - \lambda - 2\lambda n - n)_i (-1 - 2\lambda - 4\lambda n - 2n - m)_i}{i! (-\frac{1+m}{2} - \lambda - 2\lambda n - n)_i (1 + 2a - 2\lambda - 2\lambda n - n - m)_i} \\
& \times \frac{(-1 - 2a - 2\lambda n - n)_i (a + \lambda n + \frac{2-i}{2})_n (2\lambda - 2a + 2\lambda n + n + m - i)_n}{(-2\lambda - 4\lambda n - 2n)_i (\lambda - a + \lambda n + \frac{m-i}{2})_n (2 + 2a + 2\lambda n + n - i)_n}.
\end{aligned}$$

Then (3) produces the dual relation

$$\begin{aligned}
& \sum_{k=0}^n (-1)^k \binom{n}{k} (1 + 2a + 2\lambda k + k)_n (2a - 2\lambda - 2\lambda k - k)_n \frac{1 + 2k}{(1 + n)_{1+k}} \\
& \times \frac{(1)_k}{(1 + 2a + 2\lambda k + k)(2a - 2\lambda - 2\lambda k - k)} \frac{(2\lambda - 2a + 2\lambda k + k)_m (1 + \lambda + 2\lambda k + k - \frac{m}{2})_m}{(1 + 2\lambda + 4\lambda k + 2k)_m (\lambda - 2a - \frac{m}{2})_m} \\
& \times \sum_{i=0}^m \frac{(-m)_i (\frac{1-m}{2} - \lambda - 2\lambda k - k)_i (-1 - 2\lambda - 4\lambda k - 2k - m)_i}{i! (-\frac{1+m}{2} - \lambda - 2\lambda k - k)_i (1 + 2a - 2\lambda - 2\lambda k - k - m)_i} \\
& \times \frac{(-1 - 2a - 2\lambda k - k)_i (a + \lambda k + \frac{2-i}{2})_k (2\lambda - 2a + 2\lambda k + k + m - i)_k}{(-2\lambda - 4\lambda k - 2k)_i (\lambda - a + \lambda k + \frac{m-i}{2})_k (2 + 2a + 2\lambda k + k - i)_k} \\
& = \frac{(1)_n (1 + 2a - \lambda + \frac{m}{2})_n}{(1 + 2a + 2\lambda n + 2n)(2a - 2\lambda - 2\lambda n)}.
\end{aligned}$$

Interchanging the summation order, we gain Theorem 5 after some simplifications. \square

When $m = 0$, Theorem 5 also reduces to Theorem 2. Performing the the replacements $\lambda \rightarrow \lambda - \frac{1}{2}$ and $a \rightarrow \frac{\lambda+a-1}{2}$ in the case $m = 1$ of Theorem 5, we achieve the following reciprocal formula after some reformulations.

Corollary 6 *Let a and λ be complex numbers. Then*

$$B(\lambda; a, n) + B(-\lambda; a, n) = \frac{(-1)^n 4^a (a)_{1+n}}{(a + \lambda + 2\lambda n + n)(a - \lambda - 2\lambda n + n)(1)_n},$$

where the symbol on the left hand side stands for

$$B(\lambda; a, n) = {}_5\Psi_6 \left[\begin{matrix} (1, \frac{3}{2}; 1), (\frac{1+\lambda-a}{2}; \lambda - \frac{1}{2}), (\frac{2+\lambda-a}{2}; \lambda + \frac{1}{2}), (\lambda + a + n; 2\lambda) \\ (1+n; -1), (2+n, \frac{1}{2}; 1), (\frac{1+\lambda+a}{2}; \lambda - \frac{1}{2}), (\frac{2+\lambda+a}{2}; \lambda + \frac{1}{2}), (1+\lambda-a-n; 2\lambda) \end{matrix} \middle| -1 \right].$$

Two hypergeometric series identities from Corollary 6 can be displayed as follows.

Example 5 ($\lambda = \frac{1}{2}$ in Corollary 6)

$$\begin{aligned} & \frac{1}{1+2a} {}_5F_4 \left[\begin{matrix} 1, \frac{3}{2}, \frac{5-2a}{4}, \frac{1}{2} + a + n, -n \\ \frac{1}{2}, \frac{3+2a}{4}, \frac{3}{2} - a - n, 2+n \end{matrix} \middle| 1 \right] \\ & - \frac{1}{1-2a} {}_5F_4 \left[\begin{matrix} 1, \frac{3}{2}, \frac{3-2a}{4}, \frac{1}{2} + a + n, -n \\ \frac{1}{2}, \frac{3+2a}{4}, \frac{3}{2} - a - n, 2+n \end{matrix} \middle| 1 \right] \\ & = \frac{4}{(2a-1)(1+2a+4n)} \frac{(1)_{1+n}(a)_{1+n}}{(\frac{1}{2}+a)_n(-\frac{1}{2}+a)_n}. \end{aligned}$$

Example 6 ($\lambda = \frac{3}{2}$ in Corollary 6)

$$\begin{aligned} & \frac{1}{3+2a} {}_9F_8 \left[\begin{matrix} 1, \frac{3}{2}, \frac{5-2a}{4}, \frac{7-2a}{8}, \frac{11-2a}{8}, \frac{3+2a+2n}{6}, \frac{5+2a+2n}{6}, \frac{7+2a+2n}{6}, -n \\ \frac{1}{2}, \frac{3+2a}{4}, \frac{7+2a}{8}, \frac{11+2a}{8}, \frac{9-2a-2n}{6}, \frac{7-2a-2n}{6}, \frac{5-2a-2n}{6}, 2+n \end{matrix} \middle| 1 \right] \\ & - \frac{1}{3-2a} {}_9F_8 \left[\begin{matrix} 1, \frac{3}{2}, \frac{3-2a}{4}, \frac{5-2a}{8}, \frac{9-2a}{8}, \frac{3+2a+2n}{6}, \frac{5+2a+2n}{6}, \frac{7+2a+2n}{6}, -n \\ \frac{1}{2}, \frac{3+2a}{4}, \frac{5+2a}{8}, \frac{9+2a}{8}, \frac{9-2a-2n}{6}, \frac{7-2a-2n}{6}, \frac{5-2a-2n}{6}, 2+n \end{matrix} \middle| 1 \right] \\ & = \frac{4}{(2a-3-4n)(3+2a+8n)} \frac{(1)_{1+n}(a)_{1+n}}{(\frac{3}{2}+a)_n(-\frac{3}{2}+a)_n}. \end{aligned}$$

3 Two different summation formulas for Fox-Wright function

Theorem 7 *Let a, b and c be complex numbers. Then*

$$\begin{aligned} & {}_6\Psi_7 \left[\begin{matrix} (1, \frac{3}{2}; 1), (\frac{1}{2} - a + b, a + n; \frac{1}{2}), (b - a, -\frac{1}{2} + a + n; -\frac{1}{2}) \\ (1+n; -1), (2+n, \frac{1}{2}; 1), (1+a-c, \frac{1}{2} - a + b + c; \frac{1}{2}), (\frac{1}{2} + a - c, b + c - a; -\frac{1}{2}) \end{matrix} \middle| -1 \right] \\ & = \frac{2(\frac{1}{2} + 2a - b - c)_n (b)_n (c)_n}{(1)_n (1 + 2a - 2b)_n} \frac{\Gamma(2a - 1 + n) \Gamma(2b - 2a)}{\Gamma(1 + 2a - 2c + n) \Gamma(2b + 2c - 2a + n)}. \end{aligned}$$

Proof: A ${}_7F_6$ -series identity due to Chu and Wang (2009)[Corollary 16] can be expressed as

$$\begin{aligned} & {}_7F_6 \left[\begin{matrix} a, 1 + \frac{a}{3}, b, c, \frac{1}{2} + a - b - c, 1 + n, -n \\ \frac{a}{3}, 1 + a - 2b, 1 + a - 2c, 2b + 2c - a, \frac{1+a-n}{2}, \frac{2+a+n}{2} \end{matrix} \middle| 1 \right] \\ &= \frac{(1+a)_n (2b-a)_n \left(\frac{1+a-n}{2} - c\right)_n \left(b + c - \frac{a+n}{2}\right)_n}{(1+a-2c)_n (2b+2c-a)_n \left(\frac{1+a-n}{2}\right)_n \left(b - \frac{a+n}{2}\right)_n}. \end{aligned}$$

Employ the substitution $a \rightarrow 2a$ to attain

$$\begin{aligned} & \sum_{k=0}^n (-1)^k \binom{n}{k} \frac{a + \frac{k}{2} + k}{\left(a + \frac{n}{2}\right)_{1+k}} \frac{a - \frac{1}{2} - \frac{k}{2} + k}{\left(a - \frac{1}{2} - \frac{n}{2}\right)_{1+k}} (1+k)_n \\ & \times \frac{(1)_k (2a-1)_k (b)_k (c)_k \left(\frac{1}{2} + 2a - b - c\right)_k}{(1+2a-2b)_k (1+2a-2c)_k (2b+2c-2a)_k} \\ &= \frac{(1)_n (2b-2a)_n (2a-1)_n}{(1+2a-2c)_n (2b+2c-2a)_n} \frac{\left(\frac{1-n}{2} + a - c\right)_n \left(b + c - a - \frac{n}{2}\right)_n}{\left(a - \frac{1+n}{2}\right)_n \left(b - a - \frac{n}{2}\right)_n}, \end{aligned}$$

which fits to (2) with

$$\begin{aligned} x &= a, \quad y = a - \frac{1}{2}, \quad z = \frac{1}{2}; \\ g(k) &= \frac{(1)_k (2a-1)_k (b)_k (c)_k \left(\frac{1}{2} + 2a - b - c\right)_k}{(1+2a-2b)_k (1+2a-2c)_k (2b+2c-2a)_k}; \\ f(n) &= \frac{(1)_n (2b-2a)_n (2a-1)_n}{(1+2a-2c)_n (2b+2c-2a)_n} \frac{\left(\frac{1-n}{2} + a - c\right)_n \left(b + c - a - \frac{n}{2}\right)_n}{\left(a - \frac{1+n}{2}\right)_n \left(b - a - \frac{n}{2}\right)_n}. \end{aligned}$$

Then (3) gives the dual relation

$$\begin{aligned} & \sum_{k=0}^n (-1)^k \binom{n}{k} \left(a + \frac{k}{2}\right)_n \left(a - \frac{1}{2} - \frac{k}{2}\right)_n \frac{1+2k}{(1+n)_{1+k}} \\ & \times \frac{(1)_k (2b-2a)_k (2a-1)_k}{(1+2a-2c)_k (2b+2c-2a)_k} \frac{\left(\frac{1-k}{2} + a - c\right)_k \left(b + c - a - \frac{k}{2}\right)_k}{\left(a - \frac{1+k}{2}\right)_k \left(b - a - \frac{k}{2}\right)_k} \\ &= \frac{(1)_n (2a-1)_n (b)_n (c)_n \left(\frac{1}{2} + 2a - b - c\right)_n}{(1+2a-2b)_n (1+2a-2c)_n (2b+2c-2a)_n}. \end{aligned}$$

Writing it in terms of Fox-Wright function, we obtain Theorem 7. □

When $b \rightarrow \infty$, Theorem 7 offers the following formula.

Corollary 8 *Let a and c be complex numbers. Then*

$$\begin{aligned} & {}_4\Psi_5 \left[\begin{matrix} (1, \frac{3}{2}; 1), (a+n; \frac{1}{2}), (-\frac{1}{2} + a + n; -\frac{1}{2}) \\ (1+n; -1), (2+n, \frac{1}{2}; 1), (1+a-c; \frac{1}{2}), (\frac{1}{2} + a - c; -\frac{1}{2}) \end{matrix} \middle| -1 \right] \\ &= \frac{1}{2^{2c+2n-1}} \frac{(c)_n}{(1)_n} \frac{\Gamma(2a-1+n)}{\Gamma(1+2a-2c+n)}. \end{aligned}$$

Fixing $c = 1 - m - n$ in Corollary 8, we get the following identity.

Corollary 9 *Let a be a complex number and m a nonnegative integer. Then*

$$\begin{aligned} & {}_{3+2m}F_{2+2m} \left[\begin{matrix} 1, \frac{3}{2}, \{2a + 2n + 2i - 2\}_{i=1}^m, \{3 - 2a - 2n - 2i\}_{i=1}^m, -n \\ \frac{1}{2}, \{2a + 2n + 2i - 1\}_{i=1}^m, \{4 - 2a - 2n - 2i\}_{i=1}^m, 2 + n \end{matrix} \middle| 1 \right] \\ &= (-1)^n \frac{(2)_n (m)_n}{(2a - 1 + n)_n (2a - 1 + 2m + 2n)_n}. \end{aligned}$$

Theorem 10 *Let a and b be complex numbers. Then*

$$\begin{aligned} & {}_7\Psi_6 \left[\begin{matrix} (1, \frac{3}{2}, 1 - a - b, b - a, a + n; 1), (\frac{1-a-b}{2}, \frac{b-a}{2}; -\frac{1}{2}) \\ (1 + n; -1), (2 + n, 2 - a - n, \frac{1}{2}; 1), (\frac{1-a-b}{2}, \frac{b-a}{2}; \frac{1}{2}) \end{matrix} \middle| \frac{1}{4} \right] \\ &= \frac{(b)_n (1 - b)_n}{(a + b)_n (1 + a - b)_n} \frac{\Gamma(a + n) \Gamma(1 - a - b) \Gamma(b - a)}{2\Gamma(1 + n) \Gamma(2 - a)}. \end{aligned}$$

Proof: Setting $d = 1 - b$ and $e = 1 - c$ in the transformation formula (cf. Andrews et al. (2000)[p. 147])

$$\begin{aligned} & {}_6F_5 \left[\begin{matrix} a, 1 + a/2, b, c, d, e \\ a/2, 1 + a - b, 1 + a - c, 1 + a - d, 1 + a - e \end{matrix} \middle| -1 \right] \\ &= \frac{\Gamma(1 + a - b) \Gamma(1 + a - c)}{\Gamma(1 + a) \Gamma(1 + a - b - c)} {}_3F_2 \left[\begin{matrix} 1 + a - d - e, b, c \\ 1 + a - d, 1 + a - e \end{matrix} \middle| 1 \right] \end{aligned}$$

and calculating the series on the right hand side by Dixon's ${}_3F_2$ -series identity (cf. Andrews et al. (2000)[p. 72]):

$$\begin{aligned} & {}_3F_2 \left[\begin{matrix} a, b, c \\ 1 + a - b, 1 + a - c \end{matrix} \middle| 1 \right] \\ &= \frac{\Gamma(1 + \frac{a}{2}) \Gamma(1 + a - b) \Gamma(1 + a - c) \Gamma(1 + \frac{a}{2} - b - c)}{\Gamma(1 + a) \Gamma(1 + \frac{a}{2} - b) \Gamma(1 + \frac{a}{2} - c) \Gamma(1 + a - b - c)}, \end{aligned}$$

where $Re(1 + \frac{a}{2} - b - c) > 0$, we gain

$$\begin{aligned} & {}_6F_5 \left[\begin{matrix} a, 1 + \frac{a}{2}, b, 1 - b, c, 1 - c \\ \frac{a}{2}, 1 + a - b, a + b, 1 + a - c, a + c \end{matrix} \middle| -1 \right] \\ &= \frac{\pi \Gamma(a + b) \Gamma(1 + a - b) \Gamma(a + c) \Gamma(1 + a - c)}{2^{2a-1} \Gamma(a) \Gamma(1 + a) \Gamma(\frac{a+b+c}{2}) \Gamma(\frac{1+a+b-c}{2}) \Gamma(\frac{1+a-b+c}{2}) \Gamma(\frac{2+a-b-c}{2})} \end{aligned}$$

provided that $Re(a) > 0$. The case $c = -n$ of it can be manipulated as

$$\begin{aligned} & \sum_{k=0}^n (-1)^k \binom{n}{k} \frac{a + k + k}{(a + n)_{1+k}} \frac{a - 1 - k + k}{(a - 1 - n)_{1+k}} (1 + k)_n \frac{(1)_k (a)_k (b)_k (1 - b)_k}{(1 + a - b)_k (a + b)_k} (-1)^k \\ &= \frac{(1)_n (a)_n (1 - a - b)_n (b - a)_n}{(1 + a)_n (-a)_n (2 - a)_n} \frac{(-\frac{a+n}{2})_n (\frac{1-a-n}{2})_n}{(\frac{1-a-b-n}{2})_n (\frac{b-a-n}{2})_n}, \end{aligned}$$

which suits to (2) with

$$\begin{aligned} x &= a, \quad y = a - 1, \quad z = 1; \\ g(k) &= \frac{(1)_k (a)_k (b)_k (1-b)_k}{(1+a-b)_k (a+b)_k} (-1)^k; \\ f(n) &= \frac{(1)_n (a)_n (1-a-b)_n (b-a)_n}{(1+a)_n (-a)_n (2-a)_n} \frac{(-\frac{a+n}{2})_n (\frac{1-a-n}{2})_n}{(\frac{1-a-b-n}{2})_n (\frac{b-a-n}{2})_n}. \end{aligned}$$

Then (3) produces the dual relation

$$\begin{aligned} & \sum_{k=0}^n (-1)^k \binom{n}{k} (a+k)_n (a-1-k)_n \frac{1+2k}{(1+n)_{1+k}} \frac{(1)_k (a)_k (1-a-b)_k (b-a)_k}{(1+a)_k (-a)_k (2-a)_k} \\ & \times \frac{(-\frac{a+k}{2})_k (\frac{1-a-k}{2})_k}{(\frac{1-a-b-k}{2})_k (\frac{b-a-k}{2})_k} = \frac{(1)_n (a)_n (b)_n (1-b)_n}{(1+a-b)_n (a+b)_n} (-1)^n. \end{aligned}$$

Writing it according to Fox-Wright function, we achieve Theorem 10. □

The case $d \rightarrow \infty$ of (4) reads

$${}_4F_3 \left[\begin{matrix} a, 1 + \frac{a}{2}, b, c \\ \frac{a}{2}, 1 + a - b, 1 + a - c \end{matrix} \middle| -1 \right] = \frac{\Gamma(1+a-b)\Gamma(1+a-c)}{\Gamma(1+a)\Gamma(1+a-b-c)}$$

with $Re(1 + \frac{a}{2} - b - c) > 0$. When $b \rightarrow \infty$, Theorem 10 reduces to the special case of it:

$${}_4F_3 \left[\begin{matrix} 1, \frac{3}{2}, a+n, -n \\ \frac{1}{2}, 2-a-n, 2+n \end{matrix} \middle| -1 \right] = (-1)^n \frac{(2)_n}{(a-1)_n}.$$

Taking $b = -2m$ in Theorem 10, we attain the following result.

Corollary 11 *Let a be a complex number and m a nonnegative integer. Then*

$$\begin{aligned} & {}_{5+4m}F_{4+2m} \left[\begin{matrix} 1, \frac{3}{2}, \{1-a+2i\}_{i=0}^m, \{a+2i\}_{i=1}^m, \{1-a-2i\}_{i=1}^m, \{2+a-2i\}_{i=1}^m, a+n, -n \\ \frac{1}{2}, \{1+a+2i\}_{i=0}^m, \{-a+2i\}_{i=1}^m, \{1+a-2i\}_{i=1}^m, \{2-a-2i\}_{i=1}^m, 2-a-n, 2+n \end{matrix} \middle| 1 \right] \\ & = (-1)^n \frac{(-2m)_n (1+2m)_n (2)_n}{(a-1)_n (a-2m)_n (1+a+2m)_n}. \end{aligned}$$

Acknowledgements

The authors are grateful to the reviewer for helpful comments.

References

- G.E. Andrews, R. Askey, and R. Roy. Special functions. *Cambridge University Press*, Cambridge, 2000.
 K. Aomoto and K. Iguchi. On quasi-hypergeometric functions. *Methods Appl. Anal.*, 6:55–66, 1999.

- D. Bressoud. The Bailey lattice: an introduction. pp. 57–67, in: G. E. Andrews, et al (eds), *Ramanujan Revisited Proceedings*, Urbana (1987), New York: Academic Press, 1988.
- W. Chu. Inversion techniques and combinatorial identities: a unified treatment for the ${}_7F_6$ -series identities. *Collect. Math.*, 45:13–43, 1994.
- W. Chu. Analytical formulae for extended ${}_3F_2$ -series of Watson-Whipple-Dixon with two extra integer parameters. *Math. Comp.*, 81:467–479, 2012.
- W. Chu. M. Jackson's bilateral ${}_3H_3$ -series and extension with integer parameters. *Ramanujan J.*, 30: 243–255, 2013.
- W. Chu and X. Wang. Summation formulae on Fox-Wright ψ -functions. *Integral Transforms Spec. Funct.*, 19:545–561, 2008.
- W. Chu and X. Wang. The modified Abel lemma on summation by parts and terminating hypergeometric series identities. *Integral Transforms Spec. Funct.*, 20:93–118, 2009.
- T. Craven and G. Csorads. The Fox-Wright functions and Laguerre multiplier sequences. *J. Math. Anal. Appl.*, 314:109–125, 2006.
- M. Darus and R.W. Ibrahim. On Cesáro means for Fox-Wright functions. *J. Math. Stat.*, 4:156–160, 2008.
- C. Fox. The asymptotic expansion of generalized hypergeometric functions. *Proc. London Math. Soc.*, 27 (Ser. 2):389–400, 1928.
- G. Gasper. Summation, transformation and expansion formulas for bibasic series. *Trans. Amer. Math. Soc.*, 312:257–277, 1989.
- Ira. Gessel and D. Stanton. Strange evaluations of hypergeometric series. *SIAM J. Math. Anal.*, 13: 295–308, 1982.
- C. Krattenthaler. A new matrix inverse. *Proc. Amer. Math. Soc.*, 124:47–59, 1996.
- J.L. Lavoie. Some summation formulas for the series ${}_3F_2(1)$. *Math. Comp.*, 49:269–274, 1987.
- J.L. Lavoie, F. Grondin, and A. Rathie. Generalizations of Watson's theorem on the sum of a ${}_3F_2$. *Indian J. Math.*, 34:23–32, 1992.
- X. Ma. The (f, g) -inversion formula and its applications. *Adv. in Math.*, 38:227–257, 2007.
- X. Ma. Two matrix inversions associated with the Hagen-Rothe formula, their q -analogues and applications. *J. Combin. Theory Ser. A*, 118:1475–1493, 2011.
- F. Mainardi and G. Pagnini. The role of the Fox-Wright functions in fractional sub-diffusion of distributed order. *J. Comput. Appl. Math.*, 207:245–257, 2007.
- A.R. Miller. On the Mellin transform of a product of two Fox-Wright psi functions. *J. Phys. A: Math. Gen.*, 35:2275–2281, 2002.

- A.R. Miller and I.S. Moskowit. Reduction of a class of Fox-Wright psi functions for certain rational parameters. *Comput. Math. Appl.*, 30:73–82, 1995.
- G. Murugusundaramoorthy and T. Rosy. Subclasses of analytic functions associated with Fox-Wright's generalized hypergeometric functions based on Hilbert space operator. *Stud. Univ. Babeş-Bolyai Math.*, 56:61–72, 2011.
- T.K. Pogány and H.M. Srivastava. Some Mathieu-type series associated with the Fox-Wright function. *Comput. Math. Appl.*, 57:127–140, 2009.
- H.M. Srivastava. Some Fox-Wright generalized hypergeometric functions and associated families of convolution operators. *Appl. Anal. Discr. Math.*, 1:56–71, 2007.
- H.M. Srivastava and P.W. Karlsson. Multiple gaussian hypergeometric series. *Halsted Press (Ellis Horwood Limited, Chichester); John Wiley and Sons, New York, Chichester, Brisbane, Toronto, 1985.*
- H.M. Srivastava, R.K. Saxena, and C. Ram. A unified presentation of the Gamma-type functions occurring in diffraction theory and associated probability distributions. *Appl. Math. Comput.*, 162:931–947, 2005.
- C. Wang. A short proof for Gosper's ${}_7F_6$ -series conjecture. *J. Math. Anal. Appl.*, 422:819–824, 2015.
- C. Wang and X. Wang. New transformation formulae of quadratic ${}_7F_6$ -series. *Filomat.*, 28:353–364, 2014.
- C. Wang, J. Dai, and I. Mező. A nonterminating ${}_7F_6$ -series evaluation. *Integral Transforms Spec. Funct.*, 29:719–724, 2018.
- S.O. Warnaar. Summation and transformation formulas for elliptic hypergeometric series. *Constr. Approx.*, 18:479–502, 2002.
- C. Wei and X. Wang. Evaluations of series of the q -Watson, q -Dixon, and q -Whipple type. *Discrete Math. Theor. Comput.*, 19:#19, 2017.
- C. Wei, D. Gong, and H. Hao. A family of summation formulas on the Fox-Wright function. *J. Math. Anal. Appl.*, 393:316–327, 2012.
- J. Wimp. Irreducible recurrences and representation theorems for ${}_3F_2(1)$. *Comput. Math. Anal.*, 9:669–678, 1983.
- E.M. Wright. The asymptotic expansion of generalized hypergeometric functions. *J. London Math. Soc.*, 10:286–293, 1935.
- E.M. Wright. The asymptotic expansion of generalized hypergeometric functions. *Proc. London Math. Soc.*, 46 (Ser. 2):389–408, 1940.
- D. Zeilberger. Gauss' ${}_2F_1(1)$ cannot be generalized to ${}_2F_1(x)$. *J. Comput. Appl. Math.*, 39:379–382, 1992.